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Selling, he cannot sell her, but 73, he can be 7¥%°» her

Overview

M2R 72 727 posed a query whether T1¥° confers on the 7°12v7 72X a status of PXIW"2
or POY1XR. In response the X n3 cited a Xn>92, which states that once 9y o0 WD
(the master was 7¥°°» her), the father cannot resell her. We can infer that the father
is only limited in regard to selling her, but he can be 7y her." moo1n explains
what is meant that the father can be 7v>» her.

Mmoo responds to an anticipated difficulty:2
-3nY VP12 YW 910 10189 RIN 1999 Y1 NPT IND

The X713 does not mean precisely that he cannot be 7¥%» her, rather the X772
means to say that he can be w7p» her to someone (even) after the 713> —

Moo explains how the X3 inferred from the Xn™72 that the father can be w7p» her:*
= 1199990 SNYA 1IN 2IYW MNP INNIN NYWTPY D15 79N XY INT

For if the father cannot be w7p» her (after 71v°), why does the Xn>72 state, ‘the

father can no longer sell her’ -
- 5199mY 19V 95 9199 19N NYWTPY 1DIAN NVIVWD

It is obvious that he cannot sell her; if he is not able even to be wTp» her,
certainly he is not permitted to sell her!

mooin offers an alternate understanding of the Xm0
= 5aY YN8 9D ANYY NN ND P21 XYY NN MY "NOYIN 1°2V»Nn vN

" The X3 concluded that if 7wy PR 77, the father loses all his rights to his daughter after 1"X1°3, so how can
you say 72 9™ T K.

2 What does it mean that he can be 7v>n her. He cannot sell her again to a master that the master should be 7v>°» her,
since the Xn™12 clearly states (that after 71v°) the father cannot sell her.

? See (also) X7 7" >"wA.

* Perhaps the Xn™12 means he cannot sell her and he also cannot be wp» her.

> The authority a father has over his daughter to be w7pn her is stronger than his power to sell her. He can sell her
only while she is a 71vp, but he can be w7pn her even while she is a 77v1. Therefore if the rule was that the father
cannot even be w7pn her, the Xn>12 should have so stated and we would understand that he certainly cannot sell her.
[Alternately it seems that the right to be w7pn her (where she is settled into married life, which is what every woman
looks forward to), is much more benevolent and acceptable than selling a daughter into slavery. If he loses the
beneficial right of 1"v17°p, he should certainly be refused the (inconsiderate) right of selling her to m72y.]

% The previous explanation is wanting; why does the X723 say 7% 79™» > X7, when it really means to say w17p X7
7 wIpn.

7 According to the o°aw™n & the X073 of 712 Ty *Tw* X7 is precise; however it does not mean that the father can be
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And there are those who resolve the X999 of 7v»n >71v° X7, as follows: we infer
from the ¥n> "2 that the father cannot sell her, but regarding other things, the
father can still do them as an authority over his daughter — including PwY7p -

= 452y 5810 YD INWT 1929IN 2350 9199 1Y 1Y S7IY> NN NINI) NNNN NP
And the X923 is astonished by this inference and asks, 'm2 7¥»n 79 R7';

meaning how can you say that he has control over other things -
:8‘,71'\1‘11 N2 MIYA HPANRYD PN NYIY PRIYII NINN INY DY 7Y Y 7HY¥> 925 XM

But he was already 7v>>» her, and if we assume that 7% is 7w PRSI, the

father has no rights over her after 7°X1°1. But it is an implausible understanding of
the X723,

Summary
7% 7Y "7 X7 means that he can be w7pn her, or possibly 77 7V >7¥° is not part

of the inference (which is the unstated 7°2v °¥n 971 IRW? X7), but part of the
question.

Thinking it over
What (other) difficulties are there with the explanation of the o°aw»n wn?’

¥ (meaning wpn) her, but rather that the 117% was already 7v>n her.

¥ The simple understanding of the X1n3 is that 7% 79 *7%° X1 is an inference from the statement 7% am K97 X371 21127,
but not as the o°aw>n w> have it that 72 7v>» >7w> X7 is part of the question after an assumed, but not mentioned
inference (7°2y >¥n 2% IXWS 871). This is not the (usual) syntax of the X7na.

? See footnotes # 7 & 8.
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